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a1 1| 25 ug 3 Mg
O 7 d3¥(238€ 7E)
(2t mm)
7|2 23 = 2374 238
7 Bd | 2 HE%) "Hd | 2 (HS%) BA | 23 | HE%
o = 1,039.8 | 1,297.0 1247 | 311.8 | 4883 156.6 288.0 | 289.2 100.4
s & 1,089.4 | 1,135.9 104.3 | 356.7 | 4074 114.2 316.3 | 249.0 78.7
otM M 1,013.1 | 1,106.5 109.2 3204 | 527.6 164.6 298.5 | 204.5 68.5
=Ss 955.6 | 1,3734 143.7 | 264.7 | 4492 169.7 | 2522 367.3 145.6
oy 888.3 | 855.1 96.3 | 2155 197.3 915 | 229.7 | 262.6 114.3
Ef st 994.2 | 1,185.7 1193 | 2326 | 262.7 113.0 240.3 389.0 161.9
=2 & 1,033.9 | 1,443.6 139.6 302.7 | 694.8 | 229.6 2829 | 2705 95.6
AFm A 982.1 | 1,100.5 112.1 273.1 568.8 | 2083 | 295.9 197.1 66.6
AL 1,034.7 | 1,545.3 149.4 2959 748.1 252.8 273.4 258.7 94.6
Sz 1,015.0 | 1,477.3 1456 | 2824 | ©689.5 | 2441 266.5 | 236.7 88.8
Nz 1,155.2 | 1,685.7 145.9 318.5 660.0 | 207.2 304.9 312.6 102.5
s A 1,075.8 | 1,543.2 1435 | 2878 | 6240 | 2169 2752 | 268.1 974
Bz 1,192.7 | 1,670.9 140.1 289.1 570.8 1974 | 3035 353.7 116.6
* (BX) 7|43 6971 #HEL T|E, g tig] Z=d|g0] JHE M2 A
O 71743 370E AR (23.9€ ~'23.1149)
78 Yo yale
2398 ®A(842~2023m)3} v R3ALL BS | BE(02~208T)ECH 2
23108 ®(37.0~64.3m)2} 8] H14(139~ 147703} v 231 =2
23118 BU(307~55.1m)3} 8|23t BE | BU(7.0~82T)0 8|25 &2




AL al ;31
A1 2| H: ug ¥ 33N
O A A (2389L 71F)
(Eh9| : s a2
T8 che & o e 8o - S5 BX x|
aog\ | o | Ba | UF o | s | UE | ona | g | UF | o | ge | UE
A 7,830.119,292.4| 118.7| 1251.9| 1203.4 96.1| 2415| 300.9| 1246(1,527.7|11,852.7| 121.3
512t | 3606.8/4,0009| 1109 12484| 11998 96.1| 162 172| 1060 2532| 2802| 110.7
“E2ZH 1832.1(25103| 1370 - - - | 2121| 2457| 1158| 3728| 4618 1239
22 |15636(1,759.3 1125 - - - - - - | 3119] 3668 1176
odrbzZt | 8276(1,021.9| 1235 35 36 1014, 132 380| 2882 580.8| 7439 1261
% (GRS oA, (LSS ENZhElE, (3212 MM, [FAZS T, SR, MEZ o BRI $H AlMe B8
- oA
ST X458 e
FA | oA (84 Bbm) (%) << (/%)
T £ o | e | 9 ey
(o) | ELM) | ELmM) | & A | e | m) | owm | 2=
ezt | M
Z 7 12923 | 8876 | 69 | 57 | 233
L, | 222 [ 2703 | 1980 | 1860 | 2900 | 2029 | 70 | 61 | 384 | O 0
; = F 6,648 145.0 135.5 2,750 1,760 64 55 166 0 0
< & M| 209 180.0 175.4 87 62 71 62 171 0 0
o = 1,584 161.7 154.3 1,248 917 74 54 332 81 0
2 St 1,361 164.7 158.8 595 457 77 47 157 0 0
N e | #13 | 3649 | 3598 o8 o1 76 | 56 | 239 | o 0
Lo g FY ] 5000 | 1640 | 1526 181 87 48 | 50 | 276 | 17 0
o |2 sl | e75 | 2051 | 1964 | 49 30 61 | 47 | 333 | 0 0
'; L PANLly 82.0 198.6 1915 54 40 74 52 284 2 0
S |msia| 306 | 2385 | 2306 22 14 62 | 45 | 438 | 0 0
st M| 95 1790 | 171 | 790 612 | 78 | 55 | 292 | 103 | o
o Zb 2085 | 460 | 309 | 309 152 | a9 | a9 | 122 a9 | 408
al o | 954 | 2102 | 2015 74 59 80 | 0 | 262 | 0 0
= |8 o] 930 | 2655 | 2579 | 815 587 | 72 | 64 | 383 | 27 | 0
2z [ of & 3204 | 800 | 739 | 1490 | 1020 | 69 | 63 | 182 | 0 0
M | M7z | 763 | 1977 | 1905 | 466 308 | 66 | 47 | 306 | 25 | 0
Zl = of 1,145 110.5 105.4 707 501 71 61 259 0 0
7| 2 of 59 43.8 38.9 50 35 70 71 415 0 0
£t L= 163.6 75.5 70.1 117 68 58 51 249 0 0
2 5 g3 | s28 | 738 191 109 | 57 | 57 | e0s | 2 0
T ) Aletzieer s SR SLoM HEESANK HEB2o| sEste ZFEHEEE 50%)
2) FHE2 TSI M=z Agges



P
- &9
S S =
79 A =Ry (48 3kme) (%) e (/%)
T B A 22| =2 e
(km) | (ELm) | (EL.m) 5 A | o | (M) | e | A
xser | maa | © ; = | as
B 4449 | 3050 | 69 | 55 | 419
3t | ZE | 1250 | 6720 | 6722 | 131 9.3 71 | 64 | 110 | 00 | 15
zZb | e 094 | 120 1120 ] 87 7.4 84 |72 a9 | 00 | 03
o™ | 2350 | 1568 | 1536 | 1032 | 710 | 69 | 53 | 3% | 00 | 00
o | 67 | 439 | 392 185 | 113 61 |60 1635 | - | 00
Ztz 37 | 400 | 400 06 o1 81 | 56 | 42 | - | 00
Lol e s01s | a0 | a9 | 603 [ 037 | es | 55 | 467 | 00 | 00
- | o= | s75 | 1200 | 1190 | 362 | 275 |76 | 39 | 229 | 00 | 00
S | Ak | e70 | 600 | s56 | 303 | 170 |86 | 51 [ sss | - | 00
S g 770 | 485 | 485 13.1 65 50 a1 e = 00
Aot 12 | 300 | 270 20 15 76 |80 a9 | - | 00
oix | 117 | a0 | 477 52 43 83 |64 |63 | = 00
227 930 |93 10.0 9.4 94 |81 549 203
o | = 400 | 640 | 610 | 313 | 253 | 81 | 70 | 622 | 00 | 00
A gE 99 oe 7 097 0.3 8.5 - R Y
Moo siaslold ALEFATA MBIl Dot YTBRES 50%)
e
SRR B} shet wr et
g47) | w (s 5bm) (%) 2| (m/%)
o= Mgl | 4 mm
(EL.m) (EL.m) = R _ REE =l
sr | ol =]
ST TS T e B B N o e
= 15500 | 1,1930| 770| 730| 4224 - -
s A 1750 | 1722  9171| 660.1| 720| 643| 2159| 230 -
= H 1020 | 1011 1393| 1141| 819| 852| 464| 864 -
o | o 2 705 70.1 85.7 651 | 760| 776| 1045| 1108 -
2 o 50.0 496 | 1627| 1353| 831| 834| 173| 2644 -
3| A 1340| 1328 9.7 56| 488| 576| 124 - 1025
Z o - 050 | 2300| 2096 911| 924| 133| e602| 3021
MRzt | BAZ 1269 | 1259 56 31| 564| 681| 126| 61| 710




o AF FFAE(23.9¢€~23119)

(22 m¥s)
'23.9¥ '23.10¥ 23114
T2 AlM

of A 2ol | BIE(%) | o4 2ol | HIE(%) | od 2 | HlE(%)
Al (8 2kme) 5,269 3,800 72.1 2,272 2,362 104.0 1,809 2,071 114.5
ChEMcH 267.0 141.3 52.9 152.0 136.6 89.9 138.1 137.3 99.4
_— E+H 2.6 0.7 28.7 0.9 0.7 715 0.8 0.7 89.3
- E g 1418.9 544 5 384 481.6 364.4 75.7 385.9 360.5 934

PSRN - 3.2 - - 0.7 - - 0.7 -
ChEMcH 142.2 87.9 61.8 924 716 775 71.0 66.0 93.0
L=t 2T H 18.9 18.9 99.8 16.1 17.2 106.6 15.4 17.2 111.4

kX oA - - - - - - - - -

X 4= X| - 53 - - 0.8 - - 0.4 -
Ch=2cH 112.0 54.6 48.7 60.4 525 87.0 53.8 525 97.5

23t ETH - - - - - - - - -

ok oA - - - - - - - - -

X = X| - 307.4 - - 117.8 - - 83.2 -
ChEMcH 50.0 50.0 99.9 349 214 61.4 26.8 214 80.0
of AbZ} ST H 49 5.3 107.6 4.0 49 122.7 3.6 48 133.1
Hh 7~ cH 16.2 10.7 66.0 59 3.9 66.1 2.7 3.0 111.1

X = X| - 236.3 - - 89.3 - - 51.2 -

« [eHd]2 ot (S22 dird-Efakd, (B2 Mud, [FA2 orE, SAIZ, MRIZ & eIz A AldE =g

- e A
(2H2l : m¥/s)
2 '23.9¥ '23.10& 23114

A o AZE |HE(%)]| o HZE |HE(%)] o4 HE | H|E(%)
| (84 2k me) 1,480.80| 865.18 58] 909.60| 755.58 83| 750.70| 718.50 96
Akt 70.41 30.00 43 55.18 70.00 127 57.18 70.00 122
LA s F 192.90| 108.97 56 94.31 65.20 69] 78.70] 64.90 82
g2 A 3.70 2.34 63 2.50 1.40 56 2.24 2.40 107
ot = 37.73| 33.77 901 23.75 19.60 83| 22.22 17.50 79
2l st 26.89 16.66 62 18.44 15.70 85 10.42 15.60 150
Mo 0.50 0.82 163 0.37 0.60 161 0.46 0.60 130
= 9 1.04 0.85 82 0.82 0.70 85 0.93 0.70 76
sz HHEE 1.23 1.80 146 1.01 1.70 169 1.12 1.70 152
& 0.46 0.40 86 0.63 0.30 47 0.35 0.30 86
2 A 23.77 16.81 71 18.29 15.70 86 17.25 15.40 89
= 48.23 14.39 30 27.18 15.50 57 16.55 12.40 75
R 2.35 2.42 103 1.87 1.80 96 1.66 1.80 109
P g ¢ 17.59 16.71 95 16.69 16.60 99 16.90 16.60 98
- of 90.90| 34.58 38] 40.73] 32.70 80| 3422 3270 96
wmor | o | 22220 1526 69| 2162 1520 70| 1806 1520 84
T oM 22.57| 30.59 136 9.22 3.20 35 4.98 3.20 64
£ ot 1.58 0.85 54 1.08 0.80 74 0.93 0.80 86
7 Ef 2 3.55 3.28 92 2.95 3.20 108 2.70 3.20 118
& = 3.67 3.29 90 2.95 2.20 75 2.78 2.20 79




'239¥ '23.10¥ 2311
of A Z Hlg | od A E Hlg | od A & H| &
m) 68.369| 64.515 941 56.444| 61.014 108] 51.379| 58.864 115
2 = 1.934| 0.387 20] 0.568| 0.380 67] 0.486| 0.380 78
=g 0616 0.345 56| 0.369| 0.290 79] 0264 0.290 110
=S| 6.860| 9.301 136] 6.482, 8.110 125 6.245 8.110 130
o = 0.063| 0.033 52| 0.060| 0.050 84| 0.042| 0.050 118
z = 5657 4.494 791 4.037) 4.220 1051 3.799, 4.220 111
CH S ALA 2.791 1.855 66| 2.480 1.850 75 1.856 1.850 100
oy g 2843, 2.817 99| 2512 2.600 104] 3.003, 2.600 87
= 0.350| 0.151 431 0.260, 0.150 58] 0.202| 0.150 74
™ 0.369| 0.242 66| 0.313] 0.230 73] 0.295| 0.230 78
MEZ o 4416 4.869 110] 3.696, 4.580 124] 3333, 4510 135
RN = 0479 0.396 83] 0.298| 0.320 107] 0.297, 0.320 108
(2H2l © m¥/s)
2398 '23.10¥ 23114
of d° A= | HE%) | odld A= | HE%) | ol AHZE | HE(%)

3,719.8 | 1,439.1 38.7 | 1,305.7 986.5 755 11,007.3 942.2 93.5

st 795 | 303 | 381 | 252 | 222 | 881 | 151 | 222 | 1470
ZH | 1078 | 398 369 | 320 226 | 706 | 197 | 223 | 1132
olet | 1886 685 | 363 | 840 | 912 | 1086 | 785, 916 | 1167
% | 2627 1021 | 389 | 1031 | 926 88| 917 923 1007
A | 242 126 | 521 64| 04| 63| 38| 14| 368
meh | 7561 | 2912 | 385 | 2309 | 1354 | 586 | 1771 | 1307 | 738

2M2 | 162 107 660 59 39 | 66 27 | 30| 111
UM BY 5 URB(LHUURL+FEURY) ANXE
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2398 2310
A=l HIE)| o | A=
1,439.1 - - 558.7

0.112 - - 0.070
0.056 - - 0.060
0.000 - - 0.000
0.000 - - 0.010
0.067 - - 0.070
0.242 - - 0.020
0.282 - - 0.020
0.427 - - 0.030
0.915 - - 0.080
0.168 - - 0.120
0.101 - - 0.060
0.487 - - 0.040
0.336 - - 0.130
0.000 - - 0.000
0.000 - - 0.000
0.000 - - 0.000
0.000 - - 0.000
0.000 - - 0.000
0.723 - - 0.000
0.016 - - 0.000
0.078 - - 0.000
0.068 - - 0.000
0.021 - - 0.000
0.074 - - 0.000
0.016 - - 0.000
0.050 - - 0.000
0.048 - - 0.000
0.018 - - 0.000
0.000 - - 0.000
0.217 - - 0.000
0.037 - - 0.000
0.809 - - 0.245
0.527 - - 0.000
0.544 - - 0.095
0.021 - - 0.000
0.007 - - 0.000
0.326 - - 0.000
0.027 - - 0.000
0.041 - - 0.000
0.024 - - 0.000
0.223 - - 0.000
0.838 - - 0.439
0.073 - - 0.000
0.239 - - 0.000
0.062 - - 0.000
0.068 - - 0.000
0.016 - - 0.000
0.077 - - 0.000
0.008 - - 0.000
0.005 - - 0.000
0.000 - - 0.000




2 239 23,10 23,11

of A HAZE |H2(%)| od HE " Z2(%)| od A=
Fef - 0.000] - - 0.000] - - 0.000
HE 0.000 0.000 0.000
2 - 0.000] - - 0.000] - - 0.000
RS - 0530 - - 0.140] - - 0.140
o = 0517 0.130 0.130
x| A (2keh) - 0542 - - 0110 - - 0.110
=FS| - 0340 - - 0057, - - 0.057
Algkel - 0520 - - 0.120| - - 0.120
stz - 0228/ - - 0010 - - 0.010
1= - 0259 - - 0.030| - - 0.030
ME - 0141 - - 0018/ - - 0.018
== - 0327 - - 0030 - - 0.030
Akt - 0.850| - - 0276 - - 0.170
AbRE - 0133 - - 0015 - - 0.015
=2 - 0.608| - - 0.034| - - 0.034
A - 0668 - - 0062 - - 0.062
H| Z - 1632 - - 029 - - 0.131
CI= - 0485 - - 0.013| - - 0.025
25 - 0285 - - 0028 - - 0.028
by = - 1.988) - - 0.366| - - 0.366
— 2l =t - 0.803| - - 0056, - - 0.049
- W= - 0.019] - - 0.019| - - 0.019
0| s - 3342 - - 0821 - - 0.815
ol - 0284 - - 0019 - - 0.049
SHA| - 0204 - - 0.004| - - 0.004
20 - 0702| - - 0.022| - ~ 0.121
& - 0958 - - 0371 - - 0.229
2ot - 0424 - - 0.008 - - 0.008
=5 - 0312 - - 0.004| - - 0.004
X ot - 0239 - - 0.002| - - 0.002
5hx - 0255 - - 0.005 - - 0.005
HEAL - 0507| - - 0.000| - - 0.000
= - 0215 - - 0.005 - - 0.005
EFA - 7.395| - - 0573 - - 1.183
HE - 0456, - - 0042 - - 0.043
=l - 0541 - - 0030 - - 0.031
o8 - 0400/ - - 0015 - - 0.015
=8 - 0743 - - 0.183) - - 0.189
22U E - 229751 - - 99.500| - - 65.400
=22 - 0281 - - 0.000] - - 0.000
Alch - 0.326] - - 0.000, - - 0.000
of B ) - 12661 - - 1.307| - ~ 1.847
2 - 1.468| - - 0.004| - - 0.267
AT S — 31.923] - - 13.068| - — 11.472
= - 0966 - - 0.000| - - 0.000
A - 1.827] - - 0.000| - - 0.000
=5 - 0339 - - 0.000| - - 0.000
NES - 0967 - - 0.000, - - 0.000
f 5 x| - 10434 - - 1.363] - - 1.408
2k - 1.095 - - 0580 - - 0.353
=R - 1.032] - - 0442 - - 0.269
LbE - 2963 - - 0.000 - - 0.000
£fok - 1463 - - 0.000] - - 0.000
HIE= - 1335 - - 0690 - - 0.420




2 2398 2310 23113

of A A=l BIE(%)| od A=l |H[E(%) o4 A =
s - 0.442 - - 0.156 - - 0.095
o - 0.517 - - 0.217 - - 0.132
o= - 0.074 - - 0.004 - - 0.004
e - 0.360 - - 0.127 - - 0.077
2% - 0.153 - - 0.156 - - 0.088
A - 0.108 - - 0.080 - - 0.047
o - 3.476 - - 0.000 - - 0.000
Ex| - 0.230 - - 0.263 - - 0.157
25 - 0.822 - - 0.463 - - 0.282
GLts - 132.747 - - 37.300 - - 21.300
Yt - 45.102 - - 43.800 - - 23.800
=2= - 9.676 - - 0.700 - - 0.200
T - 0.428 - - 0.216 - - 0.110
=3 - 0.399 - - 0.008 - - 0.008
= - 0.446 - - 0.010 - - 0.010
=T - 1.110 - - 0.388 - - 0.230
M7z & - 0.202 - - 0.003 - - 0.003
2= - 0.320 - - 0.113 - - 0.069
= - 0.628 - - 0.010 - - 0.010
e - 0.942 - - 0.026 - - 0.026
2= - 0.253 - - 0.179 - - 0.106
=3t - 2.425 - - 0.400 - - 0.400
Sat - 3.278 - - 0.000 - - 0.000
T0| - 2.267 - - 0.332 - - 0.332
S Ry =7 - 2115 - - 0.443 - - 0.443
43 - 3.563 - - 0.299 - - 0.299
o ot - 4.375 - - 0.513 - - 0.513
T3 - 0.585 - - 0.007 - - 0.007
S =4 - 0.940 - - 0.015 - - 0.015
&4 - 2.032 - - 0.025 - - 0.025




X o &k al a
O % A (238¢ 71F)
(el = m¥Y%

o 712 ‘234 = 23749 2389

4

5 ooy 1) od | 25 |68 od | 28 |8l8e)| od | 28 |68
AF (2w, gszdm | 2064] 3063 1483] 4135] 14277 3452| 4304] 2830] 657
cHobR (2w, TEm) | 5336 696.3| 130.4| 1538.6| 2,808.1| 1825 1,241.4) 7566 609
X (42, xFom) 322 287 893 1135 1435 1263 707| 239 338

.

AT, wz) 125 134 1065 403 640 1586 312 207 664
EH(zrY, 22D) 240 237 986 720/ 000 1249 486 202 415
OjE(ay, usdm) | 2164] 1655 764 6437| 6310| 98| 6931 399.4| 57.6
(o d, 22D) 101 122 1203| 277 560 2019 272 212| 779
MR AM=n 166.1| 201.9| 121.6| 400.0| 974.4| 2436| 3374| 277.7 82.3
Fol(gs, 2Mm 1525 260.0| 170.5| 3635| 12387 340.8| 3433 4223 1230
32 (=s szoct)’ 1835 3195 174.1| 464.8|1,429.0| 3075| 41504 614.7| 148.1

Lt

s |D¥Es 1D 2485| 386.4| 1555 630.0| 16500 2633| 5733| 7300 127.3

A
otH(ew, xzn) 2002| 4532| 1562| 7462|18604| 2493| 7170 9712 1355
stokms, Azl 4095 5967| 1457|1067.52336.1| 2188 9549| 1234.8) 129.3
Uk F, Alztxim) 5179 7211 139.2| 1,379.0| 2,609.4| 189.2| 1308.1| 14714 1125
2H (=5, olaum) 462| 89.1| 1930 102.8) 3943 3836| 1140/ 1162 1019
ST (ER 4L 1286 2512 1954| 2832|1,314.7| 4642 297.04 3120 1050

2 | 2ojEs unn 1565 315.1| 201.3| 337.2| 16822 4989| 3787 324.1| 856

Z oM@, arn 252/ 386, 1529 510 1628 3190 756 553 732
MEAl(o|ax, ¢atm) 443 83.7| 188.9 93.1| 407.7| 4379 1320| 1214 92.0
OFARAl(mma, sfcrel) | 73| 109 1502 139|412 2060 175 235 134.2

¥ | ZFes, 2w 237 391 1646 230| 657 2852 558 1429 2560

A

2+ L ER, GFEdim) 56.5| 100.9| 1784 52.3| 1188| 2271 1444 411.8] 285.1

o BHEs 3= 318 711, 2237 179 670 3740 87.3] 3729 4269

T FMHEE da) 46.4| 1145 2465 275 100.6| 3646| 156.2| 611.6| 3915

A
Pl s, s52) 729 1371 1880| 41.4| 1198| 2888 2067 6802 3290

= 1) 6102 0|3 Mo e LR WilE ol oA 2 LHRIE B £
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